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2 Ay AT EREE2 g 2R

HED | JEAELEN(109N/m?) . & A (m/s) T 1= P
x| Ee
I E G | FY [@em) [Ty T vs [ v
45 210 81 | 029 | 7.8 | 5940 | 5420 | 3220 470
) 124 46 | 0.34 | 89 | 4560 | 3900 | 2250 445
o 70 26 | 034 | 27 | 6320 | 5410 | 3100 170
S 70 28 | 025 | 25 | 5800 | 5460 | 3350 129
#7 | 0002 | 0.0007 | 0.50 | 093 | 1040 | 53 27 9.7
T |55 20 |0364| 118 | 2640 1300 31
BEHT | 38 1.16
sEehpess | 84 033 | 75 3375
2 59 24 | 023 | 24 | 5300 | 5077 | 3100 130
JFLEE 44 18 | 020 | 24 | 4500 | 4368 | 2756 108
TR 72 78 03T | 27 | 6130 | 5452 | 5200 T6G
}£-(20°C) 0.998 | 1481 14.8
Yai o
#5(20°C) 1.026 | 1500 15.4
0.0012 | 343 0.004
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Incident wave
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Medium 1

Reflected wave

0/

Medium 2

¢ Refracted wave
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Incident compression wave

Medium 1

Reflected shear wave

Reflected compression wave

Medium 2

Refracted compression wave

Refracted shear wave
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2 B A(d=0.11m)* T2 £ & P i £ )

H H 0.30
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% Pt i & R
PR R t, (us) t, (us) F. o Pk 32 (m/s)
Bl AT -87.04 -7.04 3750
2 BT -83.84 -3.20 3720
A B CriT -89.60 -8.96 3720
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A HC (d=0.26m) % H o BPIFEF L2 HAERPIEEIFE Z
E73  em .. . HEip | 2L
2 N ﬁ ﬁjc‘ b i# K tl (HS) t2 (“S) ;af&l) F(%)
= (ps)
0.32 -39.68 | 74.24 0.250 0.00
H1=H2=0.05m
3m 0.64 -40.32 | 71.04 0.245 2.00
m 0.32 -57.92 | 61.76 0.246 1.60
H1=H2=0.10m
0.64 -40.96 | 78.72 0.246 1.60
0.32 -38.08 | 76.16 0.251 0.40
H1=H2=0.05m
am 0.64 -46.08 | 65.92 0.246 1.60
m 0.32 -45.44 | 75.52 0.249 0.40
H,=H,=0.10m
0.64 -64.00 | 60.16 0.255 2.00
0.32 -48.96 | 66.88 0.254 1.60
H1=H2=0.05m
6m 0.64 -81.28 | 35.20 0.255 2.00
m 0.32 -51.84 | 70.72 0.252 0.80
H1=H2=0.10m
0.64 -61.44 | 61.44 0.253 1.20
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